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19.1fa = 0.1818181818........ and b =
0.303003000300003........ then (a+b) is :

a) a rational number

b) a perfect square

8 animational no.

d) None of these
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19.1fa=0.1818181818........ and b =

e TS Gmes o

0.303003000300003........ then (a+b) is :
a) U ufvdg d@n
b) TP quf af



20. The valueof (1-1/2) (1-1/3)(1-1/4) 20-11 -1/2)(1-1/3)(1-1/4)(1-1/5)

A A~ /. Tl i TE (1-1/n)BTHAE:
a) 1 a) 1
b) (1=1/n)" b) (1-1/n)"
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22. Find the least number by which 30492

must be multiplied or divided so as to make it

a perfect square.
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44. An 8-digit number 4252746B leaves 44.8 3®I B! WV 42527468 H! 3 A fAvifora
remainder 0 when divided by 3. How many 1 W JYGd 0 F9dT g1 B & fFaa w1 dva

values of B are possible ? g2
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46. Numb&r136 is added to 587 and the sum 45#@11/35!%537ﬂw}51m33ﬁ1m

obtained is 7A3 where A and B are integers. TN 7A3 §, WKTAWBW?IWWW?

It is given that 7A3 is exactly divisible by 3. f& 743, 3‘\Qﬁmwtl B &1 UHHIT Jvifaa
The only possible value of B is : kg
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55. There is a numeric lock which has a 3-digit PIN. 55. 0% it afs g S s sl a1 Rm
The PIN contains digits 1 to 7. There is no 18 7 @ & 3@ ¢! 3! I S gy 78 gt
repetition of digits.The digits in the PIN from left 81 fU= & 3@ a1¢ & ¢ wed »w & 8 = & f=di
to right are in decreasing order. Any two digits in 3 3! ¥ W | FH 2 &1 3 grar 81 FAfda = v A
the PIN differ by at least 2. How many maximum U= #1 Tar 13 & o @t & sftwan o

attempts does one need to find out the PIN with waTH! Bt ravgSHar gt 2
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